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ey HHRH AT JEEHBH S AT E = 0 44000
bty WA FH AT JE Rt EARH J\ B S2AT 0 44000
bty HHRH S AT AU 5 B BH & HE AT 0 44000
LT WA FH AT Jb 5 W PH e 95 AT 0 38000
e 4T WA FH AT Jb B BH TR H S AT 0 34000
ey HHRH AT JE B HBH T ST 0 34000
bty WA FH AT JE Bt AR+ AR AT 0 34000
bty HHRH S AT Jb T EARE AR 35 B AT 0 34000
LT WA FH AT JE Rt & & JE B AT 0 34000
e 4T WA FH AT JE L HHBH T AR AT 0 34000
LT ST e 13T 0 34000
LT AT JEHURH T AT 0 34000
bty BT JE R AT AT 0 38000
LR T AT e R ITUT 0 34000
Bl T J6 T e 3 S2AT 0 44000
LT KT AT % AT 0 2000
LT 22 134T Jb a2 ] 3T 0 44000
bty 22 134T b BRI KT ST 0 34000
e AT RINSAT JEEARIWSAT 0 44000
Bl RINSAT LRI SAT 0 34000
ey RIWEAT e b AT 0 34000
bty RIWSAT b2 13T 0 34000
bty 7 AT JE T ST 0 44000
LR T J7 ST AR AT 0 38000
e T 7 AT JE R AR L AT 0 34000
ey 07 E AT Jb 505 B AT 0 34000
LT 7 AT JE MR ST 0 34000
bty 7 AT Jb s+ B AT 0 34000
LR T J7 ST JE R % L ST 0 34000
Bl 5 1L AT el R 2 Ak 0 44000
ey 5 1L AT e KPH AT 0 38000
bty 5 1L AT L BT 0 24000
bty I, Jb 55 Lok AT 0 34000
e AT 5 1L AT Je el S AT 0 24000
e 4T 5 1L AT JE KBRS AT 0 44000
ey |22 13T Jb ARk e AT 0 38000
LT |2 13T b= I3UATE N E 0 44000
LT |21 3AT Jb 5 % AT 0 34000
LR T IR I13AT e A AT 0 34000
LT HEVE AT JE LR AT 0 34000
LT HEVE AT Jb B0 UE AT E L 0 44000
LT HEVE AT Jb B2 B AT 0 34000
bty e AT Jb R B AT 0 44000
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LT HEVE AT b A ST 0 34000
ey W UE AT Jbs —HE AT 0 34000
bty e AT Jb 5 P B ST 0 34000
LT HEVE AT Jb 5 5Bt e % AT 0 34000
e 4T PEE P X AT | b e v X S AT BB 0 44000
LT WEPE X AT | deE SR AT 0 34000
bty WEE P X AT | b B RS AT 0 34000
bty PR P X AT [ dE BT 0 34000
LT WEPIX AT (6 S ST 0 34000
LT WEPI X AT (bR ST 0 34000
LT WREPE X AT | d 33T 0 38000
bty PEEPE X AT | A A AT 0 34000
bty PR P X AT [AEE JIinsAT 0 34000
LT AR AT J6 5t A BRI AT 0 38000
Bl FF B3 AT JE A B oA NS KR ST 0 34000
LT AR AT JE A B s S0 AT 0 34000
LT SR ST Jb R R AT 0 44000
bty SR ST JE R B AT 0 44000
e AT JUIL AT et AT EN = 0 44000
LT JLIL AT Jb 5t 2R [ PR 34T 0 38000
ey SR AT Jb ) TR AT 0 38000
LT JUELL AT JE AR = % ST 0 34000
bty U2 AT Jb s E s Jb % S AT 0 34000
e AT JUIL AT e B K W AT 0 34000
JEHMT BB HEARTE R XA AL B AT R XK E [ S 4T 0 34000
5T BT HEARTE R X A AL st AL IR P B S AT 0 38000
LT B EART R X A b1\ HE R AT 0 34000
bty B AT b a7 E b E 0 24000
LT FAL B ST [ dER A T ST 0 44000
LT FAL ST A B ST 0 44000
LT FAL LB ST R RIS AT 0 44000
LT mAL LB ST [ s ST 0 34000
bty mAL LB ST B E TR O ST 0 44000
LT mAL LB ST [P E 15T 0 38000
LT IS AT L RAESAT 0 24000
LT IS AT L AT E = 0 24000
LT IS SAT e ST 0 24000
bty TR AT e EN S ST 0 44000
e AT TR AT Jb 3 AR DY R AT 0 34000
LT TR SAT Jb b s AT 0 34000
LT FRI AT U R L AT 0 38000
LT FRIHSAT R KA AT 0 34000
e 4T VG 3k S 4T Jeati g AT E = 0 44000
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LT U 2530 S2AT JE I PRk = % ST 0 38000
LT VU 20 AT Jb 5 P 2 A AT 0 44000
bty P 20 AT JE PR S 13T 0 44000
LT P 253 S2AT A6 7 5 i B T AR SAT 0 44000
LT BT I AT Jb T L 3T 0 44000
LT BT I AT eI AT 0 38000
LT B AT Jb a2 ] P R AT 0 34000
bty B S AT e Z RE AT 0 34000
e AT B AT Jb B8 R el S AT 0 34000
LT BT I AT Jb AUKIE AT 0 38000
LT ST Jb BT L 3T 0 44000
LT ST et e B AT 0 38000
bty ST e ERITAT 0 34000
Bl Wiz A AT Je R B ST 0 34000
LT i AT b bR s AT 0 34000
LT Wiz A AT L IE A AT BN = 0 44000
LT Wiz A AT Jb R} 2 el B B SCAT 0 34000
bty Wis A 24T b R AT 0 34000
LT HE K AT e IE R ST E % 0 24000
Bl K2 AT JbEK AT E b E 0 44000
ey K2 AT LB I AT 0 44000
LT K2 AT b REE AT 0 44000
JbH T K 223247 JE R AT 0 44000
e AT o SR AT JE I RA ST 0 44000
e T HOCH AT e AR TS AT 0 38000
ey HOGH AT JbsUE AR T AT 0 34000
bty HOGH AT J6 5 BT 6 AT 0 38000
bty WG AT JEEKEAT 0 28000
Bl o SR AT Jbgt E3qT 0 34000
Bl HOCH AT JEE I = AT 0 34000
ey H O ST LK SAT 0 34000
bty PRl 34T JE BRI AT 0 44000
bty PRl 34T Jb 5 e £ 3 AT 0 38000
e AT PRl E 24T LR SAT 0 34000
LT =S A A AT 0 24000
ey 13k AT e SR ST 0 24000
LT PR AT e PR X AT 0 24000
bty BN AT JE BB M4 5 BAL 0 34000
LT M AT Jb B IS = AT 0 24000
LT M AT L EMF AT 0 24000
LT M AT JE TR K AT 0 24000
LT M AT JbE AT 0 24000
bty AT JEFUER AT 0 24000
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LT M AT Jb K 51 AT 0 24000
LT SRR AT e A EBEUT 0 44000
bty FRIR S AT R ST 0 34000
e AT SRS AT b i % B R ST 0 34000
LT SRR AT A6 )\ ST 0 34000
LT SR SIAT b B R AT 0 44000
LT SRR AT e BB AT 0 34000
bty SRR AT JE P VY AT 0 34000
e AT SR AT Jb 5t B lE AT 0 34000
e 4T AT LI SAT 0 34000
LT AT JE B B SAT 0 34000
LT AT JE P S2AT 0 34000
bty B AT Jb 5t B M X AT 0 34000
LT AT Jb R RIE A6 AT 0 34000
JEEMT | B OX ST AR S O X ST E I E 0 44000
AT | BEROXSAT e SAT 0 34000
JEEMT | B OXSAT | dEE AR T i S AT 0 28000
6547 | BETOXSAT AT 0 38000
Jb5tntr | RSO X AT bt R AT 0 38000
LT F 63T Jb R AR AT 0 44000
LT FE5UT JE K s AT 0 38000
LT FEUT b= R AT 0 38000
bty FEUT Jb 58 H 7 e AT 0 34000
e AT FE5T LR A mME AT 0 34000
e T FEXUT LM R AT 0 34000
ey FEE3U7 JE AR IS AT 0 28000
LT FEXUT e T ERE AT 0 34000
bty FEXUT e E AT 0 34000
Bl FE53UT e B AT 0 38000
LT Sl AT b5 5L BOE % S2AT 0 44000
LT Sl AT A6 5l B SR ST 0 34000
LT Sl AT et Sl b AR ST 0 34000
bR T sl AT s L & T AT 0 34000
LT Sl AT Jb A Sl SR T AT 0 38000
LT Sl AT Jb A S e L K ST 0 34000
ey sl AT et sl ) \AdE ST 0 34000
LT B ST e ST 0 24000
bR T AT e EHHLIA AT 0 24000
LT B ST Jb B A e AT 0 24000
LT B ST JEE DY et AT 0 24000
LT B ST Jb R ST 0 24000
LT B ST Jb Ut B R e AT 0 24000
bR T B AT e RE AT 0 24000
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ey B ST Jb I AR AT 0 24000
LT B ST AU 5 B S AT A el i &5 P 0 24000
bty BT Jb 5 & [ b AT 0 24000
RIET FICAT R FEHSAT 0 20000
RIEET FICAT RAEERAT 0 30000
RIEMT FISAT REHHIL AT 0 10000
RESAT JbJR>AT RIS AT 0 30000
REDAT JbJR>AT KB H H KB ST 0 20000
RIET JbJR>AT RIEM AT 0 20000
RIEEMT JbJR>AT RiFEZEARAT 0 20000
RIEMT JbJR>AT RIS B K e 34T 0 10000
RESAT JbJR>AT FAEHBHE AT 0 20000
REDAT JbRAT KRR AT 0 20000
RIET Jbsi 32 AT R H A B AT 0 20000
RIEEMT Jbsi 24T R R E S AT 0 20000
RIEMT Jbsi 24T REAL AT E = 0 30000
RESAT Jb3h AT R L E AT 0 10000
RESAT Jbsi AT K58 AT 0 20000
RIET Jbsi 32 AT R HT R AT 0 20000
RET AR AT KA E R iL3% AT 0 30000
RIEMT RN SAT R AT 0 20000
REDAT RN SAT FEEE BT 0 20000
RESAT RN AT REFFRIX AT 0 20000
RIET RN AT R AT 0 10000
RIEEMT RN SCAT RIERNIAT 0 20000
RIEMT I3 ATEDL R b T AT 0 20000
RIEMT B AT RiEJER B SAT 0 20000
REDAT JTE AT RESCH AT 0 20000
RIET B AT REBEFEIUT 0 20000
RIEEMT B AT KSR >AT 0 20000
RIEMT B AT R PRI AT 0 30000
RIEMT B AT RAVEKIE AT 0 10000
RESAT B AT A KT B AT 0 20000
RET ElEEa REEETIE AT 0 10000
RET Bl REMBEIL AT 0 20000
RIEMT 5 AT R ETE AT 0 30000
RET B AT R I AT 0 20000
RESAT I 3AT F AR NI AT 0 20000
RIET 24T RiESH AT 0 20000
RIEEMT 24T REIK LT AT 0 10000
RIEMT I 3AT RIS AT 0 30000
RESAT AL SAT R AL AT E = 0 30000
REDAT AL SAT L AT 0 20000

%5 T, 95 ;W




TRRATH —HEPE D Mg so e 5 R BEAE B
s RS ZP=% %] Z N
e ) PR BB (B | FABE (RO
RIEMT b SAT RFALPE AT 0 10000
RESAT AL SAT R R ST 0 20000
RESAT AL SAT RIETCLR I AT 0 20000
RIET TR AT R R LI AT 0 20000
RIEET TR AT R PHI AT 0 20000
RIEMT TR AT RIEFEWSAT 0 20000
RESAT AR AT RitJE 6347 0 20000
REDAT 75 AT KRBT 0 10000
RIET ST RIS AT 0 30000
RIEEMT WS AT A AT 0 20000
RIEMT P62 AT RIEAOE AT 0 20000
RESAT P62 AT R KM ST 0 20000
REDAT P62 AT KA S AT 0 20000
RIET 21 RS AT R K EA AT 0 20000
RIEEMT 21 RS AT R FE AT 0 20000
RIEMT CLERS AT RIEPASSAT 0 30000
RESAT 21 R AT RIELLHERS AT 0 30000
RESAT AN Sa RENE AT 0 10000
RIET 21 RS AT RIFERASAT 0 10000
RIEEMT LM AT REREE AT 0 20000
RIEMT LM AT Kb 5 AT 0 30000
REDAT LM AT KRBT 0 10000
RESAT il N AT Rk SAT 0 20000
RIET B AT R SAT 0 20000
RIEEMT B AT R LLAEE AT 0 20000
RIEMT R AT FARLLA AT 0 10000
RIEMT AT KRB AT 0 20000
REDAT AR AT TN SEAT 0 20000
RIET AR AT REMIH AT 0 30000
RET AR ST RERUK I AT 0 30000
RET AR ST R BUR KA ST 0 20000
REDAT AT KX AT 0 20000
RESAT AR AT R AT 0 10000
RIET AP AT R ST 0 20000
RIEEMT AP AT R RS AT 0 30000
RIEMT AP AT REARSAT 0 10000
REDAT AP AT R E R AT 0 20000
RESAT AT REEF IR X AT 0 20000
RIET B ST R SATE = 0 30000
RIEEMT FHE AT RIEER R AT 0 20000
RIEMT B ST KA E LT 0 10000
RESAT FERX T R T 0 20000
REDAT FRX AT RiEREAT 0 20000
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RIEMT TR T RIEFERAT 0 20000
RET FERX T KB m AT R X AT 0 20000
RESAT FRIX 34T RIEER R T 0 20000
RIET TR X347 RIEERF ) 37 0 20000
RIEET TR X 4T R BARAE e S AT 0 20000
RIEMT FHEXAT R ATE N E 0 20000
RESAT FHETAT REERINE AT 0 20000
REDAT B I SAT KR KIE AT 0 20000
RIET B ST RV H AT 0 20000
RIEEMT BT RV B AT 0 30000
RIEMT R ST KA AT 0 10000
RESAT T AT R AT 0 20000
REDAT T AT RIETWSATE = 0 30000
RIET T ST FAEMFALHT X AT 0 10000
RIEEMT EXROZAT R IE SAT 0 20000
RIEMT JEXK ST RIS AT 0 30000
RESAT EROAT F SR AT 0 30000
RESAT JEXK ST REBRFAAT 0 10000
RIET JEX H AT R LTS AT 0 10000
RIEEMT EXROAT RIERMSAT 0 20000
RIEMT HE AT RIEEE AT E L 0 30000
RET B 3T R R I X ST 0 20000
RESAT R AT REBRKIAT 0 20000
RIET HIE AT R AT 0 10000
KEDAT HE AT K s B EE AT 0 20000
RIEMT VOH AT RIEEEE AT 0 20000
RESAT POH AT R IEAT 0 20000
REDAT PO AT R SAT 0 20000
RIET POH AT R B R B AT 0 20000
RIEEMT PUH AT R R) 93T 0 20000
KEDAT B ST R LR AT 0 20000
RIEMT BR SAT RN AT E = 0 30000
RESAT B AT KA Ao AT 0 20000
RIET B AT FAREFIIEAT 0 10000
RET B AT R R PH AL % AT 0 20000
KEDAT BEsAT KRR AT 0 10000
RIEMT B AT R S AT 0 30000
RESAT BT RN 8 AT 0 20000
RIET B AT RS IiE AT 0 10000
KEDAT BEsAT R 3 AR AT 0 30000
RIEMT HIX AT R R AT 0 10000
RESAT AX AT RS HE AT 0 30000
REDAT H SR X HT KBRS AT 0 20000
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RIEMT HIX AT RIEEPUNIE AT 0 30000
RESAT H %R X HT TR A S SAT 0 20000
RESAT H SR X HT U TS AT 0 10000
RIET HAX T TR T8 AT 0 20000
RIEET H SR X AHT RIFERIESAT 0 20000
RIEMT KM AT RIEER ST 0 20000
RESAT R AT R Z T X AT 0 20000
REDAT KM AT RIS R BT IWSAT 0 20000
RIET KM AT R TR AT 0 30000
RET Kt 47 KR P BT 0 20000
RIEMT KM AT R SAT 0 10000
RESAT R AT RIEEABIE AT 0 20000
REDAT KM AT RIEFAR AT 0 20000
RIET LRELAT REFIEZAT 0 30000
RIEEMT PRELAT AT O AT 0 20000
RIEMT PRELT RIEEE AT 0 20000
RESAT LRI AT R EL O AT 0 30000
RESAT B AT R AT 0 10000
RIET LRELAT R AT 0 10000
RIEEMT bl [X 3247 R S AT 0 20000
RIEMT bl X 3247 REBEIAT 0 20000
REDAT bl [X 3247 R 1M AT 0 20000
RESAT el [X AT RERRE AT 0 20000
RIET il [X 3247 R R B AT 0 20000
b AT ARESAT FAFERRNSATE N = 0 12400
b AT AXESAT AR EMPESATENNL = 0 15000
WAL T ARET AREREIATE N E 0 12400
kAT BARET A FEAE AT E = 0 16400
WAL T ARET AREKZIATE N E 0 12400
WAL T ARENT AREFEATE N E 0 12400
WAL T BARET R TIES IS, 0 4000
b AT ARXESAT A FKEREWSATE = 0 12400
WAL T BARET AR IRIATE N E 0 12400
B AXESAT ARFEIEEATE N E 0 12400
b AT ARESAT AFERESATE N = 0 12400
WAL T ARET R TR S AT 0 4000
b AT ARKERAT AFE R ATE = 0 12400
WAL T BHRENT AREERIATE N E 0 12400
WAL T ARET AREF R ATE N E 0 12400
b AT ARERAT AFETCIRSATE = 0 12400
b AT ARKESAT A FKEFRIXSATE N E 0 12400
b AT ARKERAT AFEIREIATE = 0 12400
WAL T BARENT ARETGIE AT E N E 0 14400
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kAT ARXESAT AREIBEN XA 0 4000
b AT ARENT AREREIATE N E 0 12400
Wb 1T ARKERAT A KB A ST 0 4000
b AT AXERAT fa F R4 IE AT 0 4000
kAT ARENT KRR R AT 0 4000
kAT ARET AR R ATE N E 0 12400
b AT ARKERAT AR AR R AT E N E 0 12400
Wb 1T ARKERAT AFERESIATE = 0 12400
B ARET AREFEEATE N E 0 12400
b AT ARXESAT AFE R ESATE N E 0 12400
kAT ARKESAT AFKHENAATE = 0 12400
b AT ARKERAT AFKTEATEIATE = 0 12400
By ARKESAT A FKERESATE N = 0 12400
B AXERAT ARELRATE N E 0 12400
b AT ARXERAT AFEFIL AT E N E 0 12400
b AT ARXESAT FFKERFFIATE N = 0 12400
b AT ARKESAT AREEHEMN AT E = 0 12400
By BHRENT AREMRRATE L E 0 12400
B ARET AR ERBEKRAT AT 0 4000
kAT ARENT AR RIS R ST 0 4000
kAT BARET VPR RIS 0 4000
b AT ARKERAT Ao SR R RO AT 0 4000
b AT AREST A FKERBEISAT 0 4000
B ARET AREKZEP T 0 4000
B ARENT AR R Y ST 0 4000
B BARET R ARSI AT 0 4000
b AT ARET A FERERIZR 7 B BR SAT 0 4000
kAT BARET A K G SRS R I AT 0 4000
B ARET VEE RN RS 0 4000
B ARENT R AT 8RS AT 0 4000
kAT BARET AR ERRE 2T 0 4000
b AT ARXESAT AN R AT 0 4000
k1T BARET RS AT 0 4000
B AXESAT VEE RN 0 4000
kAT ARENT VEERNIE S, 0 4000
kAT ARET KRR AR ST 0 4000
b AT ARKERAT A KRR ST 0 4000
b AT BHRENT AR ERBHIMSAT 0 4000
B ARET VEE SIS 0 4000
b AT ARENT VEE RTINS 0 4000
kAT ARKESAT AR ENHLESAT 0 4000
b AT ARKERAT A RKERBEIRSAT 0 4000
k1T ARKESAT A XK LS AT 0 4000

/9 T, 95 ;W




LRIUTEE LB T T S S

s — - ZP=% %] Z N
e ) R BB (B | FABE (RO
WAL T ARENT K M P AR ST 0 4000
b AT ARKERAT 5% AEE R AR S2AT 0 4000
Wb 1T ARKERAT A FKERBICISAT 0 4000
WAL T ARET R B E ST 0 4000
WAL T ARENT VEE iR 0 4000
WAL AT ARKESAT AR HENHLAASAT 0 4000
b AT ARKERAT A FKE IR A1 BH AT 0 4000
Wb 1T ARKERAT 5K IE B e ST 0 4000
WAL T ARET AR R E IS 0 4000
WAL AT ARXESAT R I R AT 0 4000
WAL T ARET A K EREFIR AR AT 0 4000
WAL T BARENT R TR AR ST 0 4000
By ARKESAT A K TG IR W AT 0 4000
WAL T ARET AR R ST 0 4000
WAL T ARENT AR SO SAT 0 4000
WAL T BARET AR B AT 0 4000
b AT ARKESAT A REK LR SAT 0 4000
By ARKESAT AREIRRREKSAT 0 4000
WAL AT ARERAT SRS BRI AT 0 4000
AL AT ARESAT KIS AT 0 4000
WAL AT AXESAT A K LA A AT 0 4000
b AT ARKERAT R A AT 0 4000
k1T ARKERAT A KIS AT 0 4000
WAL T ARET AR RFFEI AT 0 4000
AL AT ARESAT £ FEAFACA AT 0 4000
WAL AT AXESAT R ER AR AT 0 4000
WAL T ARET AR AR E PRI SAT 0 4000
kAT ARKERAT AR EE M ST 0 4000
WAL T ARET Ve RN RS, 0 4000
WAL T ARENT VEESRE YRS, 0 4000
WAL T BARET AR WSAT 0 4000
b AT ARXESAT AXTENHET AT 0 4000
b AT ARKESAT AR ENHM AT 0 4000
WAL T ARET VEE R ITIE i 0 4000
WAL T ARENT R R BB AT 0 4000
WAL T ARET K M P B S AT 0 4000
b AT ARKERAT A AN AT 0 4000
WAL T BHRENT LSRR S 0 4000
WAL T ARET AFREMRE X AT 0 4000
WAL T ARENT VEE RIS, 0 4000
WAL T ARET LEEERTIES SE, 0 4000
WAL T BARENT R AR 22 AT 0 4000
WAL T BARENT A R EREFIRGE AT 0 4000
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kAT ARXESAT AR ERIER K AT 0 4000
b AT ARKERAT KL FRIR B AT ST 0 4000
Wb 1T ARKERAT ARERIEEIA AT 0 4000
B AXERAT AR AR AT 0 4000
kAT ARXESAT K ER AR AT 0 4000
b AT ARKESAT A RKERIR) AT 0 4000
b AT ARKERAT A RKEREIR LT 0 4000
b AT ARKERAT A KL BRI AT 0 4000
b AT AXERAT A XA R AT 0 4000
kAT ARXESAT AR AT AR E ST 0 4000
kAT ARKESAT AR EM & ST 0 4000
b AT ARKERAT R T ST 0 4000
By ARKESAT A FE IR NG ST 0 4000
B ARET Ve EN Xy 0 4000
kAT ARXERAT VEE SRR RN A X iy 0 4000
kAT ARXESAT AR EKLHINSAT 0 4000
b AT ARKESAT AR EMICE AT 0 4000
By ARKESAT AFERBICH AT 0 4000
B ARERAT AR TR AR E ST 0 4000
b AT LA AT LB ESATE = 0 12000
b AT LA AT R P SATE I E 0 12000
b AT R AT FELENSATE I E 0 12000
b AT LA AT JE WL FEE AT E M E 0 12000
b AT LT LRI SATE = 0 10600
B & Lo AT LGB R X ST 0 5000
b AT JE LA AT LA RSUATEIE 0 12000
b AT LA AT S L K ST 0 5000
b AT LA AT JE WL ATE M E 0 12000
b AT LA AT R EIESATE I E 0 12000
b AT LA AT I S AT BN 0 12000
b AT LA AT L& AT 0 5000
b AT R AT FEILFERESATEIE 0 12000
b AT LA AT JE Ll R S AT L E 0 12000
b AT LA AT LGS ATE I E 0 12000
b AT LA AT LR ITGSATE N E 0 12000
b AT LA AT LN SATE = 0 12000
b AT R AT LR AT E I E 0 12000
b AT LA AT JEULGE S AT E M E 0 12000
b AT LT T SATEIE 0 12000
b AT LA AT LR FESUATEIE 0 12000
kAT LA AT J3E Ly ) S AT 0 12000
b AT R AT R EHSATE N E 0 12000
k1T &L AT JE LB ST E = 0 12000
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b AT LT L BRYESAT 0 5000
b AT R AT L RBSATE I E 0 12000
b AT LA AT JE LT % B ST 0 5000
b AT LA AT S 1 s [ PR s AT 0 5000
kAT & LA AT S UL e ) 5 B IX ST 0 5000
b AT LA AT SR B R P S AT 0 5000
b AT LA AT S LI VR SAT 0 5000
b AT LA AT JE L RN e S AT 0 5000
B JE AT LR SAT 0 5000
b AT LT LT e R AT 0 5000
b AT LA AT S L = i W < S AT 0 5000
b AT & Lo AT J3 LU =F i BUH R ST 0 5000
b AT JE LA AT JE LR ST 0 5000
b AT LA AT L FFEESAT 0 5000
b AT LA AT J LA 5 e S AT 0 5000
b AT LA AT S LA AT 0 5000
b AT R AT R bR AT 0 5000
By & o AT JE WL AT 0 5000
b AT LA AT S LB P B S AT 0 5000
b AT LA AT LR AT 0 5000
kAT LA AT S LA S AT 0 5000
b AT R AT S L 5 SAT 0 5000
b AT LA AT JE LR S AT 0 5000
b AT LT DR SAT 0 5000
b AT LA AT R ST 0 5000
b AT JE LA AT L SRAESAT 0 5000
b AT R AT R H AT 0 5000
b AT LA AT JE LK T AT 0 5000
b AT LA AT L AT AT 0 5000
b AT LA AT LB SAT 0 5000
b AT LA AT L YRR AT 0 5000
b AT R AT LA SAT 0 5000
b AT LA AT JE LR R RO AT 0 5000
b AT LA AT AR AT 0 5000
b AT LA AT K R SAT 0 5000
b AT LA AT LR T K Z AT 0 5000
b AT R AT R H B ST 0 5000
b AT LA AT JE LT 93T 0 5000
b AT LT J LT PRI TR AT 0 5000
b AT LA AT AR SAT 0 5000
kAT LA AT J 1L BB R e S AT 0 5000
b AT R AT S LS HIT SAT 0 5000
b AT LA AT JE WA RSAT 0 5000
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b AT LT S L e AR SAT 0 5000
b AT LA AT LB ST 0 5000
Wb 1T & Lo AT JE LU O ST 0 5000
b AT LA AT LR S ST 0 5000
b AT LA AT AR S AT 0 5000
b AT LA AT JE LRSS AT 0 5000
b AT R AT LR B SAT 0 5000
Wb 1T & Lo AT JE RS KRB AT 0 5000
B JE AT S Ll R ST 0 5000
b AT LT S 1L 2R R P S2AT 0 5000
b AT LA AT JE LT 2 B BRSAT 0 5000
b AT AT LA IRSAT 0 5000
b AT JE LA AT JE LT 0 5000
B JE AT S 1L 3 B SAT 0 5000
kAT & LA AT S LA R AT 0 5000
b AT LA AT SR L IEAL 1 AT 0 5000
b AT R AT JE L IEAL ] 2R SAT 0 5000
By & o AT LB E )1 AT 0 5000
B JE Lo AT S LA S it el S AT 0 5000
kAT & Lo AT LTI SAT 0 5000
b AT LA AT FE LIRS SAT 0 5000
b AT R AT SR LS F B AT 0 5000
k1T Lo AT JE L A RIS AT 0 5000
b AT LT LR HE R ST 0 5000
b AT LA AT 1 K AP AT 0 5000
b AT JE LA AT JELGE P H ST 0 5000
b AT R AT LT T AT 0 5000
kAT & Lo AT JE WL EARH AT 0 5000
b AT LA AT ST 0 5000
B & LA AT JELLGE % R KAR AT 0 5000
kAT JE Lo AT S Ll =E e R S AT 0 5000
b AT FERT Z= 8 R BRI ST 0 5000
k1T ZEBMT %= 5 R AR L ST 0 5000
B EEBMT FEHGARIATEILE 0 17400
kAT EEBMT 7B BT E L E 0 16900
kAT Z=E BT 7= B RIS IATELE 0 16900
b AT FE RS ZERIFRIXATE N E 0 16900
b AT FE R ZE IR ATE L E 0 16900
B EEHMT Z& B b S AT E = 0 16900
b AT EEBMT 2 B IAT 0 5000
kAT FERT Z= B2 RIS AT ELE 0 16900
b AT ZE2 T B RIMAIATE = 0 16900
k1T ZEBMT FZERETIUATE = 0 16900
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kAT FERT FZERERIATE = 0 16900
b AT FE R ZEBFRIATE W E 0 16900
Wb 1T ZEBMT B2 RERX AT 0 16900
B EEHMT ZE NS SATE L E 0 16900
kAT FE R ZERFEILIATE = 0 16900
b AT e 2 AT e B 5 &8 AT 0 16900
b AT FE RS %= 5 R 0 AT 0 5000
Wb 1T ZEBMT REB AT 0 16900
B EEHMT ZEHERREHEIUT 0 5000
kAT EEBMMT 7 2 B ILRE X AT 0 16900
kAT EEBIMT Z B2 BT ES AT 0 5000
b AT ZE2 T Z= 5 R BRI ST 0 5000
By EEBIMT ZENERRAET 0 5000
B EEHMT %% 52 5 K BH3BCAT 0 5000
b AT Ze 2 B AT Z= BRI AT 0 5000
kAT FE R Z& B BT 0 5000
b AT FERT EE R FETAT 0 5000
By EEBIMT 7 52 B IR E AT 0 5000
B EEBMT Z 2 WL IUT 0 5000
kAT EEBMT 75 2 B IR AT 0 5000
kAT Z= B2 BT Z B R RE AT 0 5000
b AT FE RS Z= B Rl AT 0 5000
k1T EEBIMMT Z 2 BT 0 5000
B EEHMT 7% 52 B AT 0 5000
B EEBMT Z B BT 0 5000
B FERT Z 8 B SAT 0 5000
b AT FERST ZE BT UT 0 5000
kAT ZEBMT % B B RIS AT 0 5000
B EEHMT 7% 2 b 3T 0 5000
B EEBMT Z B BEIE AT 0 5000
b AT HBHE 4T IS8 23 S AT b 0 10800
b AT HBHE 4T HEFRAN S AT E b 0 10800
b AT HEE 547 HEHE S AT E 0 10800
b AT HBHE 54T HEERHIAN S AT B b % 0 10800
b AT HBHE 54T RN R SATE = 0 10800
b AT HBHE 4T HEHRE Sk S AT E 0 10800
b AT HBHE 4T HIS R U U S AT b 3 0 10800
b AT HE¥E 547 HE R AR S AT E b 0 10800
b AT HBHE 54T HEHR 22 S AT E M % 0 10800
b AT HBHE 4T HIS 8 1m] BH S AT 8 b 3 0 10800
b AT HBHE 4T HE SSRGS AT E 0 10800
b AT HBHE 4T HEFRIS S AT E % 0 10800
k1T HE¥8 47 HEFR AR B S AT E 0 10800
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kAT HBHE 4T HEEE R AT E M E 0 10800
b AT HBHE 4T HEHE) P AT E 0 10800
b AT HEE 547 IS8 b ) S AT b 0 10800
b AT HBHE 54T HEER B AT E 0 10800
b AT HBHE 54T HE RV P S AT b 0 10800
kAT HBHE 4T HEEE R4 S AT E = 0 10800
b AT HBHE 4T HEHE K AE S AT E b 0 10800
b AT HE¥8 547 HE R R 2 S AT E b 0 10800
b AT HBHE 54T HESEHT PR 5 54T 0 8000
kAT HBHE 54T HIS S VR e B2 S AT 0 5000
kAT HBHE 4T HIS ST PR S AT B = 0 10800
b AT HBHE 4T HES S HR RN AT 0 5000
b AT HEE8 47 HISEEHRAN LA AT 0 5000
B HBHE 54T HEER S S AT E 0 12000
kAT HE ¥R 447 HIS SR 7K ] L 4 S AT 0 5000
b AT HBHE 4T HEEEPE Eo L 5247 0 5000
b AT HBHE 4T HS R 2 I8 AT 0 5000
By HEE8 47 HICSR 2R L AR B AT 0 5000
B HBHE 54T IS S g Ui A S AT 0 5000
b AT HBHE 4T HIS R 2 Hh M ST 0 5000
b AT HBHE 4T HIS S /K AF Rl S AT 0 5000
b AT HBHE 4T HIS 8 2 B RS AT 0 5000
k1T HEE 47 HICER o A 5 4 AT 0 5000
b AT HBHE 54T HEFRAE £ S AT E 0 10800
b AT HBHE 4T HES SRS 552 4T 0 10800
b AT HBHE 4T LI =y 0 10800
b AT HBHE 4T HIS 8 K 22 P 9l S AT 0 5000
b AT HEE 547 HIS AN B2 AR 54T 0 5000
B HE ¥R 47 HIS 8 o 42 B8 P AT 0 5000
B HBHE 54T HE R UG T AR S50 4T 0 5000
kAT HE ¥R /47 HIS R A B A6 S AT 0 5000
b AT HBHE 4T HIS S HI AN T S AT 0 5000
k1T HEE 547 HIS B HEAM ' B B S AT 0 5000
b AT HBHE 54T HIS S8 2 B N SAT 0 5000
kAT HBHE 54T HIS R s v 4T S AT 0 5000
b AT HBHE 4T HIS 50 2 3 X S2AT 0 5000
b AT HBHE 4T HICER A SR R AT 0 5000
b AT HE¥E 547 HIS P AP35 7 S0 AT 0 5000
B HBHE 54T HEER T M AT E 0 10800
b AT HBHE 4T HIS 8 2 598 R SAT 0 5000
b AT HBHE 4T HISHfs o A3 B2 S AT 0 5000
b AT HBHE 4T HIS 8 23k e 2R S AT 0 5000
b AT HE¥8 47 HIS S b ] RIS AT 0 5000
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b AT HBHE 4T HIS S0 i L PN S2AT 0 5000
b AT HBHE 4T HIS S AN ok ) S AT 0 5000
Wb 1T HEE 547 HSER S B Sk i) 54T 0 5000
B HE ¥R 47 HISH8 25 3k B BRAE [ 24T 0 5000
b AT HBHE 54T HIS S HI AN 87 0% S AT 0 5000
b AT HBHE 4T HISHIs A2 P S2AT 0 5000
b AT HBHE 4T HE SRR LB AR S AT 0 5000
b AT HE¥8 547 HEHE BLR ST 0 5000
B HBHE 54T HIS S8 U U T S AT 0 5000
kAT HBHE 54T HIS S8 2 P S AT 0 5000
b AT HBHE 4T HIS S B SC TS AT 0 5000
b AT HBHE 4T HISER 1 22 e A% AT 0 5000
b AT HEE8 47 HIS S8 AN IA S AT 0 5000
b AT HBHE 54T HIS SR HI AN AT S AT 0 5000
b AT HBHE 54T HEERHIAN 2 Sk S AT 0 5000
b AT HBHE 4T HIS SIS Vg U2 BH S AT 0 5000
b AT HBHE 4T HE R 20k ) 22 3047 0 5000
b AT HEE8 47 HE AN S AT 0 5000
B HE ¥R 47 HISER AR i AT 0 5000
kAT HBHE 4T HIS 8 K 2 il S AT 0 5000
b AT HBHE 4T HE AN R ST 0 5000
b AT HBHE 4T HIS 8 2 3k il & AT 0 5000
k1T & 317 TS M AR AT E 0 14300
b AT & AT & AT E L E 0 14800
b AT & 54T &R EATE L E 0 14300
B & 4T TSN S AT E b 0 14300
b AT & AT & H AT E b E 0 14300
kAT & 17 & A ST E = 0 14300
b AT B & AT &2 3ATE N E 0 14300
b AT & 54T &/ B S AT E M E 0 14300
b AT & 47 & B SATE L E 0 14300
b AT & AT & TEATE N E 0 14300
k1T B & AT &R IATE = 0 19300
B & AT &I SATE = 0 14300
b AT & 54T & N ESATE M E 0 14300
kAT & 4T B SV S AT E = 0 14300
b AT B & AT B S IER S AT E M 0 14300
b AT & 317 T £ 1 PG SATE = 0 14300
B & AT &P AT E = 0 14300
b AT & AT & AR SATE = 0 14300
b AT & 4T M5 KAT AT 0 5000
b AT & AT & AT E L E 0 14300
b AT & AT B &AL AT E b 0 14300
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b AT & AT T £ ik S AT 0 5000
b AT & AT M £ 5 el 52 AT 0 5000
b AT & AT T 5 R ST 0 5000
b AT & AT & HIWSAT 0 5000
b AT & 54T T8 £ e A1 S2AT 0 14300
b AT & 4T EMZ AT 0 14300
b AT B & AT T8 £ 38 KRS AT 0 5000
b AT & 317 B & H AT 0 5000
b AT & AT B & A S AT 0 5000
b AT & 54T T & H M AT 0 5000
b AT & 4T B & 1z 34T 0 5000
b AT & AT T & 455247 0 5000
By B & AT & N e AR B SAT 0 5000
b AT & 54T I & AL AT 0 5000
b AT & 54T & RAESAT 0 5000
b AT & AT B & SERICAT 0 5000
b AT & AT B 5 BT 0 5000
By & 317 & B =T 0 5000
b AT & AT & EHEAT 0 5000
kAT & 54T B & Yo 04T 0 5000
b AT & AT B & B A AL AT 0 5000
b AT B & AT &) R=AT 0 14300
b AT & 317 & EEMAT 0 5000
b AT & AT & ST 0 5000
b AT & 54T I8 & B S AT 0 14300
b AT & 4T & T & AT 0 5000
b AT & AT T8 £ IS IR 3 54T 0 5000
kAT & AT T £ IS IR N S AT 0 5000
b AT B & AT & W RN ST 0 5000
b AT & 54T T 5 VoI RAT AT 0 5000
kAT & 4T B & Yo vh & A AT 0 5000
b AT & AT T8 £ Yo B SAT 0 5000
b AT B & AT M EAEE ST 0 14300
b AT & AT B GG KL SAT 0 5000
b AT & 54T B &5 £ B AT 0 5000
b AT & 4T TS 5 115 PR IR P S AT 0 5000
b AT B & AT T £~ 23] i Jhi SCAT 0 5000
b AT & 317 &R —3AT 0 5000
B & 17 & T ERIAT 0 5000
b AT & AT & T E AT 0 5000
b AT & 4T TS HL AT 0 5000
b AT & AT & BB AR AT 0 5000
b AT & AT T £ I RAT AT 0 5000
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b AT & AT T & H &K X AT 0 5000
b AT & 017 & B KFhiA 24T 0 5000
Wb 1T & AT & B4 F B AT 0 5000
B MK IAT K FIN SATE N E 0 17800
kAT MK IAT KRR SATE N E 0 17800
kAT MK IAT 7K B AT 0 17800
b AT MK AT IR SATE = 0 17800
b AT MK AAT K GERH AT E DV = 0 17800
B MK IAT K2 P SATE I E 0 17800
kAT MK IAT BB SATE = 0 23800
kAT MK AT KR ESATEIE 0 17800
b AT MK AT 7K B IR SAT 0 17800
b AT K AT KR SAT 0 6000
B KT KB SATE I E 0 17800
kAT KT MK RH AT E D= 0 17800
kAT MK IAT BRI AR SATE N E 0 17800
b AT MK AT 17 7K BH AT 0 6000
b AT MK IAT K ALSATE = 0 17600
b AT MK IAT K P SATE N E 0 17800
b AT KT 77K R AT 0 17800
kAT MK AT 7K IR BH ST 0 6000
b AT MK AT K KR SAT 0 6000
b AT K AT 7KK AT 0 6000
b AT MK IAT KK DL SAT 0 6000
B KT MK IR DESAT 0 6000
B MK IAT 7K B ST 0 6000
b AT MK AT KA FH AT 0 6000
b AT MK AT 5 K RH AT 0 6000
b AT MK IAT 7K B AT 0 6000
b AT KT KRN T4 K SAT 0 6000
kAT MK IAT 17 KRN K % S2AT 0 6000
b AT MK AT MK R EIA ST 0 6000
b AT KT K S EWR SAT 0 6000
WAL T K AT K B R SAT 0 6000
kAT KT #KZ - BA AT 0 6000
kAT MK AT 7K 2 MBS AT 0 6000
b AT MK AT 17 7K S 24T 0 6000
b AT MK AT K RS ST 0 6000
b AT WM AT WHAEESATE = 0 10000
b AT WM AT W X AT E L 0 10000
b AT WM AT WHIBESATE I E 0 10000
b AT WM AT WHR T SUATE = 0 10000
k1T WM AT WHEESATE = 0 10000
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b AT WM AT WAL AT E b E 0 10000
b AT WM AT WHERSATE I E 0 10000
b AT WM AT YA (8] K % HE AT 0 5000
B WM AT W S B S AT 0 5000
b AT WM AT WM AR SATE = 0 10000
b AT WM AT WM SATE I E 0 10000
b AT WM AT WM TR AT E = 0 11000
b AT WM AT WM P SATE I E 0 11000
b AT WM AT WH ST SATEIE 0 10000
b AT WM AT WAL AT 0 5000
b AT WM AT WHAEESATEIE 0 10000
b AT WM AT WM A SATE DV E 0 11000
By WM AT WHERESATE = 0 10000
B WM AT WM SATE = 0 11000
b AT WM AT N ER L SAT BN 0 10000
b AT WM AT WM S AT 0 5000
b AT WM AT W RIX AT 0 5000
b AT WM AT WM T AT 0 5000
b AT WM AT WHIEESLSATE = 0 10000
b AT WM AT W A AT 0 10000
b AT WM AT WM P SAT 0 5000
b AT WM AT Y BT /R R3PS AT 0 5000
k1T WM AT W AT 0 10000
b AT WM AT WM B B AT 0 10000
b AT WM AT MR EL AR IWSAT 0 5000
b AT WM AT WM P SAT 0 5000
b AT WM AT WNAEGE S AT 0 5000
b AT WM AT WM IE AR SAT 0 5000
b AT WM AT WA AT 0 5000
b AT WM AT WA AT 0 5000
b AT WM AT WML SAT 0 5000
b AT WM AT WM R ST 0 5000
k1T WM AT W E B AT 0 5000
b AT WM AT YN I S0 2R AT 0 5000
kAT WM AT VAR R L 0 5000
b AT WM AT WHE SRS AT 0 5000
b AT WM AT WAL A AR ST 0 5000
b AT WM AT WMAE AT 0 5000
B WM AT WA A K ST 0 5000
b AT WM AT WA I T ST 0 5000
kAT WM AT WIHAERIE A R — 3T 0 5000
b AT WM AT AR A A AT 0 5000
k1T WM AT WAL A IS 3 AT 0 5000
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kAT WM AT WA R T B ST 0 5000
b AT WINAAT WAL T AT 0 5000
b AT WM AT WM A A JH 3 T S AT 0 5000
B W AT WAL A AR ST 0 5000
b AT WM AT WM AEA A AR AR AT 0 5000
kAT WINAT WIHAEIE A IR AT 0 5000
b AT WM AT WAL A AR R ST 0 5000
Wb 1T WM AT WIN T A Y AT 0 5000
b AT WM AT WM T BE ST 0 5000
b AT WM AT Y] ] Y SO AT 0 5000
b AT WM AT Y] [ BBV SO AT 0 5000
b AT WM AT YR A A Y S AT 0 5000
b AT WM AT Y] (] B8 2R S0 AT 0 5000
b AT WM AT WM A3 0 S AT 0 5000
kAT WM AT WM RMIE AR AT 0 5000
kAT WM AT WM AR ST 0 5000
b AT WM AT WA IR ST 0 5000
By WM AT M e i S AT 0 5000
b AT WM AT WM BT YRAE N AT 0 5000
b AT WM AT WM B SN HT AT 0 5000
b AT WM AT YN ER e T SAT 0 5000
b AT WM AT YN A S2AT 0 5000
k1T RENIT PRE BT 0 7600
B REN1T PR AT E = 0 7600
B PRAESAT RELt—3UTE W= 0 7600
B RENIT PR B AT E N E 0 7600
b AT PRAEAT PREAEATEIE 0 7600
kAT RENIT PREFESATE I E 0 7600
B RE N7 B RXATE L E 0 7600
B PRAESAT PREIH AT E I E 0 7600
kAT PRAESAT PRE R RIATE = 0 7600
b AT PRAESAT fR5E =F AT 0 5000
k1T RENIT PREARESATE N E 0 7600
B RE N7 B KHEATE = 0 7600
b AT PRAESAT PREFEMSATE I E 0 6000
kAT PRAEAT PRE AT 0 5000
b AT PRAEAT 1R 5E e BB S AT 0 5000
b AT RENIT RN IATE N E 0 7600
B REN1T RERAKIATE N E 0 7600
b AT RN 1T PRE g AT E = 0 7600
kAT PRAEAT PRE VA SATEIE 0 7600
b AT PRAEAT PRERFISATE I E 0 7600
k1T RENIT R g B 3UTE W E 0 7600
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kAT PRAESAT PREFMATE N E 0 7600
b AT PRAESAT RE B IATE = 0 7600
Wb 1T RENIT PR EATE = 0 7600
B PRAESAT PRENTE SATE N E 0 7600
kAT PRAESAT PR PRIE AT E M= 0 7600
kAT PRAEAT PREEMSATE N E 0 7600
b AT PRAEAT g 2 HIATE W E 0 7600
Wb 1T RENIT REdEITE = 0 7600
WAL T REN1T fRoe s H B AT 0 5000
WAL T RN 1T P d Bk AT 0 5000
kAT PRAEAT PR AE TE MK 2 30AT 0 5000
b AT PRAEAT PR P SATE I E 0 7600
By RENIT PR AT E I E 0 7600
WAL T RE 1T {58 BRAK AT 0 7600
b AT PRAESAT PREE B ST 0 7600
kAT PRAEAT LR 5E il AT 0 5000
b AT PRAESAT PRETE ST 0 7600
By RENIT R HPU AT 0 5000
B PRAESAT PR E IR i S AT 0 5000
WAL T RE 1T PRE AR5 AT 0 5000
kAT PRAESAT LR E il AT 0 5000
b AT PRAEAT PRE LR 2E AT 0 5000
k1T RENIT PR E flIE AT 0 5000
b AT PRAESAT PRIE N 5 AT 0 5000
WAL T RE 1T R AT 0 5000
B PRAESAT PRIE AL AT 0 5000
b AT PRAEAT PRETEAE AT 0 5000
kAT RENIT ProE B i AT 0 5000
WAL T RE N7 fRE el AT 0 5000
b AT PRAESAT PRE R ST 0 5000
kAT PRAESAT PRIEHE AT 0 5000
b AT PRAESAT PRE R SAT 0 5000
k1T RENIT PR RBCAT 0 5000
WAL T RE N7 LR M P AT 0 5000
b AT PRAESAT LR 7E BH I SAT 0 5000
kAT PRAEAT LRI 52 AT 0 5000
b AT PRAEAT PREE AT 0 5000
b AT RENIT RoE HE ' RSUT 0 5000
WAL T REN1T e RIS AT 0 5000
b AT PRAESAT PRE & ST 0 5000
kAT PRAEAT PRI S B SAT 0 5000
b AT PRAEAT PRog GRS AT 0 5000
WAL T REN1T PRB R AT 0 5000
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WAL T TRIE AT PRE R IIR AT 0 5000
WAL T e 1T PRAE R AKIR AT 0 5000
Wb 1T RENIT PREIRK ST 0 5000
b AT PRAESAT LR 5E FE MR AT 0 5000
WAL T RE N7 FRE S B R M AT 0 5000
WAL T e N7 PR B S 10 52 S AT 0 5000
b AT PRAEAT PRE RS L — AT 0 5000
Wb 1T RENIT PRIE S SAT 0 5000
WAL T REN1T PRAE VA e S AT 0 5000
kAT PRAESAT LR 5E e PHA 225247 0 5000
kAT PRAEAT PRAE 7 BLHBH ST 0 5000
b AT PRAEAT LREFIH F5 3247 0 5000
By RENIT LR E BTGB AT 0 5000
WAL T RE 1T PR B B AT 0 5000
WAL T RE 1T PR BINE 34T 0 5000
kAT PRAEAT PR M I R X 24T 0 5000
b AT PRAESAT LR AE SE M E I SAT 0 5000
By RENIT R s KSAT 0 5000
WAL T RE N7 fE e M BE H 24T 0 5000
kAT PRAESAT LRI TE I 1 P4S2AT 0 5000
WAL T TRIE AT FRoE 22 [J A 24T 0 5000
b AT PRAEAT PRE % BG4 AT 0 5000
k1T RENIT PRoE 22 [H 25 M 53T 0 5000
WAL T REN1T £ i BH 5 AR SAT 0 5000
WAL T RE 1T £ i BHAE L S2 AT 0 5000
B Y 44T Y RBCATE = 0 14900
b AT Y 44T JRYE I AT E M= 0 14900
kAT JERYi 4T RV SATE = 0 19900
B Y 44T YT E AT E = 0 14900
b AT Y 44T JER Y5 46 AT 0 5000
kAT Y 44T JERY =3 AT E M= 0 14900
b AT Y 44T JiEY R SATE N E 0 14900
k1T JERYi 4T JRYI R AT E N E 0 14900
WAL T JER Y 4T JERY K AT E M= 0 14900
kAT Y 44T JR s i 22 AT E M= 0 14900
kAT Y 44T JEYFF N SATE = 0 14900
b AT Y 44T Y SR IATE N E 0 14900
b AT JERYi AT JEYIKISATE = 0 14900
B Y 34T JERY R AT E M= 0 14900
b AT Y 44T JERY S AT E = 0 14900
kAT R 547 JRYI R IX AT E M 0 14900
b AT Y 44T RS 2R AT 0 5000
k1T JERYi 54T JiRY ) BH AT 0 5000
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kAT Y 44T RSB ST 0 20600
b AT Y 44T JERY AN AT E M= 0 14900
Wb 1T JERYi 4T Y &R AT 0 5000
WAL T JER Y 4T JER b2 8 AT 0 5000
WAL T JER Y 4T YT B AT 0 5000
kAT Y 44T JER 37 U6 0 AT 0 5000
b AT Y 44T JER Y KIhAK e 34T 0 5000
Wb 1T iR 4T JER Y =3 AR AT 0 5000
B Y 34T JHR B e AT 0 5000
WAL T JER Y 4T JER 5 B M 75 K AT 0 5000
WAL T JER Y 4T JER Y R AT 0 5000
b AT Y 44T RS K DS SAT 0 5000
By JERYi 4T Y B A AT 0 5000
WAL T JER Y 4T JER YA AT 0 5000
b AT Y 34T RS B SAT 0 5000
kAT Y 44T RS KR SAT 0 5000
b AT Y 44T JER Y =] ¥ BH AT 0 5000
By JERYi AT JER Y =] 5P S AT 0 5000
WAL T JER Y 4T JER Y = ] KR S AT 0 5000
WAL T JERYi 4T JER 5 36 508 3 S AT 0 5000
b AT Y 44T JER 35 100 52 S2AT 0 5000
b AT Y 44T JRYEK) B ST 0 5000
k1T JERYi 54T JHR B 25 T IUBH S AT 0 5000
WAL T JER Y 4T JER 5 5 ] [ BH 2 AT 0 5000
WAL T JERYi 4T JER T [ %2 RIS AT 0 5000
WAL T JER Y5 /AT JHR b5 [i] 2 3 S AT 0 5000
b AT Y 44T JER Y 85 I B SAT 0 5000
kAT JERYi 4T JER Y M R X AT 0 5000
B Y 44T JER Y 85 MM A T S2AT 0 5000
B Y 44T JER Y 85 0 B2 54T 0 5000
kAT Y 44T JER Y 5 23k S AT 0 5000
b AT Y 44T JER Y M5 75 18 ST 0 5000
k1T JERYi 4T JER Y 5 RS AT 0 5000
WAL T JER Y 4T JER Y S U AT 0 5000
kAT Y 44T Y S bR SAT 0 5000
WAL T JER Y5 /AT JER Y5 RIS AT 0 5000
b AT Y 44T RSB AT 0 5000
b AT JERYi AT JER Y A5 0] FE AL AT 0 5000
B FREAAT FREMBESATEIE 0 20000
b AT FREBAAT FRAEREAL AT BV 0 20000
kAT AKEE AT FREET R B ST B E 0 20000
b AT AREE AT FREEPEE AT E = 0 20000
b AT ARAE AT R SATE = 0 20000
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b AT FREBAMAT AREETSUTE 0 20000
b AT AREE AT KR %jzﬁ:. 0 20000
b AT ARAE AT FRAE ) AT 0 20000
B FREAAT PR ST 0 8000
b AT FREBAAT HRAESP IR ST E N 0 20000
b AT FREBAAT FREE ST 0 8000
b AT AREE AT ﬁwﬁj:%ﬁs'zﬁ; 0 20800
b AT HKAE AT FRAE R AT 0 20000
B FREAAT PR T AT 0 8000
kAT FREAAT R R IX AT BN 0 20000
b AT FREBAAT PR IE AT 0 8000
b AT AREE AT PR IR AT 0 8000
b AT AKAE AT R E AT 0 8000
B FREAAT FRE AT E N 0 20000
b AT FREAAT R BHE AT 0 8000
kAT FREBAAT AR Al E AT 0 8000
b AT FREAAT FREE S 1L AT 0 8000
b AT HRAE AT PR T AT 0 8000
B FREAAT R ST 0 8000
b AT FREAAT FRAB IR AT 0 8000
b AT FREBAAT FRAE T R FL R 0 8000
b AT AREE AT FRAES IR BN AT 0 8000
b AT AKAE AT FREBER T B ST 0 8000
B FREAAT AR T KIESUAT 0 8000
b AT FREBAAT FREBMBE ST 0 8000
B AKEE AT FRPE B AT 0 8000
b AT AREE AT FREB I R S AT 0 8000
b AT TKF 94T 5K K AR SATE 0 12700
B KK O34T SKFE AR AR SATE 0 12700
B ik K O34T TR K DM AT E 0 12700
b AT Tk K AT Tk K B ST E 0 12700
b AT KK D047 ﬁ{ﬁ%‘aDTTIEZﬁE.JkE 0 12700
b AT KK 04T TR K R E ST E 0 12700
B ik K 04T TR F MR IATE M 0 12700
b AT FK K AT TR K B SATE 0 12700
b AT Tk K AT T K I BH S AT E 0 12700
b AT KK D047 S| Hiki 0 12700
At AT TKF 4T KK I ATE 0 12700
b AT Tk K A0 AT sk K kb SATE 0 12700
b AT FK K AT TR K T ZALSATE 0 12700
b AT Tk K AT TR K VB ST 0 5000
b AT KK O34T Tk R LA AT B = 0 12700
b AT TKF 4T Tk K B ATE = 0 12700
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b AT Tk K AT TR K LB s AT B = 0 12600
b AT KK D047 TR K R IBCAT 0 5000
b AT TKF 94T 5K K o AT 0 5000
B ik K 04T Tk K AR L AT 0 5000
b AT FK K AT TR K 2 AT 0 5000
b AT Tk K AT TR K & AT 0 5000
b AT ik K 34T 7KK L R S bl S AT 0 5000
b AT TKF 94T TR K & ST 0 5000
b AT Tk K A0 AT Tk K 22 S0 AT 0 5000
b AT FK K AT KRR AR L ST 0 5000
b AT Tk K AT TR K VR A ST 0 5000
b AT ik K D047 KK B R SAT 0 5000
b AT TKF 94T ik K )Ll AT 0 5000
b AT Tk K A0 AT TK K S M AT 0 5000
b AT FK K AT 7KK O E AR AT 0 5000
kAT Tk K 14T Tk K BN ILR AT 0 5000
b AT KK D047 ik K 0 B A E AT 0 5000
b AT TKF 94T TR K VE AT 20 ST 0 5000
b AT Tk K A0 AT 7K X O E A TE IR AT 0 5000
kAT ik K O34T TR LV EEPHESAT 0 5000
b AT Tk K AT Tk K O E AT AT 0 5000
b AT KK D047 Tk K VB KIE AT 0 5000
b AT TKF 94T sk K P22 Tl AT 0 5000
B ik K 04T ik 5 0 g EL B AT 0 5000
b AT FK K AT TR K O EE EOE ST 0 5000
b AT Tk K AT TR K a6 78 ST 0 5000
b AT ik K D047 TR K LUKV ST 0 5000
b AT TKF 94T 5K PRk AT 0 5000
B ik K 04T K K BB AT 0 5000
b AT FK K AT 7KK A5k AbK %2 AT 0 5000
kAT MEZ AT M2 2 AT E N E 0 7600
b AT HELZ AT MBI SATE = 0 7600
k1T HE2Z AT M2 B SATE I E 0 7600
b AT HELZ AT T 22 I FL A R AT 0 5000
kAT HEZ AT T 22 2R B BR SCAT 0 5000
kAT MEZ AT 22 IR AT IWSAT 0 5000
b AT 22 547 T 22 T EL I N S AT 0 5000
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